=
N

d2N

dN/de de dA

=
N

1

Juy
o

L U W Ui 1T 1T T 1T 1T
[ [TTTpTTT T

N

MC/Data
[l i )

OO Q0 O HR R
Giovgooor R ibvwbo

CMS, 13 TeV, AK4 jets, central dijet region, 326 < pj;t < 408 GeV

AL\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\Jﬁ

—¢+— Data ]
—+— Analysis_CSS [MODE=DIJE
—+— Analysis_.CSS_Lund [MODE

\\\‘\\\\1111‘1111‘llll‘llllLllll‘1111‘1111‘1111

\\\‘\\\\ \\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\

I o e *

s
g\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\g
0 01 02 03 04 05 o6 07 08 09 1

5
=
2
4



